=0 = 8 _a
M €3 @4 ! “a vier Briiche, Reihenfolge der Operationen
Name: Datum: Ergebnis:
3 1 2 1 1 1
SX —=+5+=-= -+t -+t =-Xx-=
- 2 3 3 6 4
l—l-l—lxl: 1—22x1+11:
4 3 6 3 2 3
3 3 3 3 3 1 1 1
4+ I+ IxI= T ———
4 5 5 5 4 2 3 5
1 1 1
4 3 3
I 1 1 1 1 1 1
—F —— =X == - —— — X = =
2 2 4 3 5 5 4 2
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D=0 [ & = -
M €3 @4 o—| ﬂjii vier Briiche, Reihenfolge der Operationen
Name: Datum: Ergebnis:
3 1 5 1 2 1 1 1 25 1
SX =5+ -=-=1- -t -t _x—-=—=1—
- 2 4 4 3 3 6 4 2 24
r 1 1 1 1 1 1 1
—— =t X ==(—=) ——2x=-=11=(—)
4 3 6 3 36 2 3 6
3 3 3 3 171 71 3 1 1 1 43
4+ 4+ I x = =1— T4 X - =__
4 5 5 5 10 100 4 2 3 5 60
1 1 5 2 1 |
X —+ll—===-=1= ——8x -+2=(-1
4 3 3 3 3 3 b
r 1 1 1 11 1 1 1 1
R c o=
2 2 4 3 12 5 5 4 2 8
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